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M.Com. 
2nd Semester Examination, Jan-June, 2022 

Paper IV 

Advanced Statistics 

Time: Three Hours] [Maximum Marks 80 

Note Answer all questions. All questions carry equal 
marks. 

F46/Unit-I 
1. pr A, B, C TT dA YTGA HTFTT P, 

, R Tfaai a Tt: 

f64T 

A B C 

P -35 120 -100 

250 -350 200 

R 550 650 700 
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(2) (3) 

Payoffs of three acts A, B, C and stages of The means of simple samples of 1000 and 

2000 are 67.5 and 68 inch respectively. Can 

the samples be regarded as drawn from the 

nature P, 2, R are given below 

Payoffs (in ) 
same population having a S.D. of 2.5? 

Stages of Nature Acts 
37274T/OR 

A B C 

P 35 120 -100 

250 -350 200 

R 550 650 700 f 3TAT AIHTRA: TA-TTY q 

t&? 377T OR 
7, 3, -1, 4, -3, 5, 6, 4. 1| 

8 FTM7iT fo 5% MTa 7 

A certain medicine given to each of the nine 

patients resulted in the following increase of 

blood pressure. Can it be concluded that the 

said medicine generally causes an increase in 

blood pressure ? 

Describe the various methods of decision 

making under uncertainty without use of 

probability. 

TE/Unit-I 

2. 1000 a7 2000 F47 TEA 54T: 67.5 7, 3, -1, 4, -3, 5, 6, 4, 1 

For 8 degree of freedom the table value ofr 

at 5% level of significance if 2.306. fey Ty fFI G =2.5? 
(Turn Over) 
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(4) (5) 

T/Unit-

3. 525 fanfeai aafa fnafen aiai 24 12 

32 32 

TM-
1 d4 HET .05 3.84 

3tiu You are given the following data. Do these 

figures support the hypothesis that skilled 
fathers have intelligent boys ? faefea 90 65 155 

Intelligent | Unintelligent 
Boys 

3afaafea 260 110 370 

Boys 
Calculate Yule's coefficient of association 

Skilled father 24 12 
between marriage and failure of students 

from the following data pertaining to 525 Unskilled father 32 32 

students: 
For d.f. 1 7.05 =3.84 

Passed Failed Total 
ehT/Unit-IV 

Married 90 65 155 
4. Hiferta fa friay 3T FTd 

Unmarried 260 110 370 

7uaTOR 
What do you understand by Statistical quality 

control? Discuss its needs and utility in 

industry. 

37rTOR 
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(6) (7) 

Fing logj0656 using Lagrange's formula for 
interpolation, given: 
log654 2.8156 Discuss the contributions of control charts in 

manufacturing process. log10658 2.8182 

RTE/Unit-V log659 2.8189 

log1061 =2.8202 

1980 1985 1990 1995 2000 

60 66 81 108 135 

With the help of the following data, estimate 
the values for the year 1988: 

Year 1980 1985 1990 1995 2000 Year 

Value 60 66 81 108 135 

3TaTOR 

f, f: 

logi6542.8156 
loB10658 2.8182 

log10659 2.8189 

log661 = 2.8202 
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